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����,

Arrear Relief (Form-10E) Calculation details for Pay Revision

����,

2014-15, 2015-16 ��� �������� Pay Revision Arrear � ��!� 	"��� # 
$�%&�� ���� ��'�().

Income Tax -> Tax Calculator �� �
	� *+�(�,�-� # ����& Income Tax 

�� ��.

��.�/ Pay Revision Arrear, Arrear ����&���� �0���� �) PF ��� 
�� �� �.

Pay Revision Arrear �� Monthly Statement, SPARK 1 	���� ������.

���1 	���� 2014-15 �� Total  *�  2015-16 �� Total  *� �2�+������.

( 3�4����: SPARK 1 	���� �5����) Pay Revision Arrear �� ��� 

6	�,

Income Tax -> Form 10E Calculation �� �
	� ������.

2014-15, 2015-16 ��� ��������  Arrear *� Taxable income *� Enter �
�7�.

���� CALCULATE 8'9 3+:�  �
�7�.

Statement, Form-10E ����(��� Print ������.

6�.�/ ��'7� Arrear Relief +0;�� �� <�1 Form-10E (��� Print �����2.

+0;�&�1 �0���1 �� <�1 �) Automatic �(� # ����& 
Statement 1 �
����.

�0���� 2014-15 ��(�� 2015-16 ��(�� Taxable Income � ��������  Income 

Tax Statement 1 	���� ������.

( 3�4����: SPARK 1 	���� �5����) Pay Revision Arrear �� ��� 
���'2 ���(�=. ���1 # ���� 2 ,>� ��'�(�� Total �� +����(�� 
1 ,>� ��'�(�� 	��������� 
�3��
 ������0. )



2014-15, 2015-16 ����?�� �	���@ $�A�(�=.

���() income &��� �0�� 2017-18 1 �5�- Arrear *� �
���@ ���.

����+��� 2017-18 �� Taxable Income �����2) 

Form-10E (��� ANNEXURE 1 ��@ B��
�& ���(�=.

( Total income (excluding salary received in arrears or advance) )

���() income 1 	���� 
�9 �������� Arrear ��C- ���.

+�D�, 2017-18 ����& Form-10E (��� TABLE - A (���@ 	���� 
����&��� (Total income (as increased by salary received in arrears or advance ...)


�9 ���� ( 2017-18 1 ) Form 10E ���C��� Arrear Relief �E(�� �
?��� 
3�F����

2014-15, 2015-16 ��� �������� Taxable income ��) � �������� 
income tax statement 1 	���! �����2).

���() income 1 	���� 
�9 �������� Arrear ��C- ���.
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NB:- Income Tax Calculation +0�&�(���( ���� 
�3��
 Form-10E calculate 

�
���0. Tax Calculation ��G<���� 
�H� �D�&�(�1 Form-10E ��2�� 
calculate �
� �.

Pay Revision Arrear �0���� DA Arrear, Salary Arrear ���� *�2<�1 ��!�� 
�0�� BD�
�-� $�%&�� ���� ��D�-� �
����.


